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2459 H8H
IE £z K ouT IN TOTAL
1 =5 S 37 37 74
2 FHE ZRA| 44 36 80
3 R £= 45 36 81
4 LA %M 41 41 82
5 b R5 43 40 83
6 Rl E1T 40 44 84
7 5l #H 44 41 85
8 mi & 45 40 85
9 A BE 44 42 86
10 LtH EA 44 43 87
11 Eig — 42 45 87
2 HE FH 47 41 88
3 &EEH BF 43 45 88
14 BilL BE= 49 40 89
15 ey HB 44 45 89
16 FIl Fk 46 44 90
17 HIEH B4 44 46 90
18 BEA EEB 51 39 90
19 FA FI8H 44 46 90
20 T H Fif 45 46 91
21 M A 50 43 93
22 ER #— 45 50 95
23 #HE B 44 60 104
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1 HFA B 40 36 76
2 HLE EX 40 38 78
3 KE & 39 39 78
4 MR &EER 38 40 78
5 Bl B 39 45 84
6 EAR Fis% 44 40 84
7 LA EEF 43 44 87
8 A0 X 44 44 88
9 mwx B 51 42 93
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